

SEASON 1996/97 20th ANNUAL REPORT



## **CONTENTS**

SPONSORS	2
OFFICE BEARERS	3
AWARD WINNERS	4
PRESIDENT'S REPORT	5
BALANCE SHEET	6
STATEMENT OF INCOME & EXPENDITURE	7
COACH'S REPORT	8
st GRADE REPORT	9
and GRADE REPORT	11
Brd GRADE REPORT	13
th GRADE REPORT	15
VETERAN'S REPORT	16
ALL STAR XII & LEGENDS MATCH	17
UNIOR COUNCIL REPORT	19
st GRADE AVERAGES 1996/97	20
2nd GRADE AVERAGES 1996/97	21
Brd GRADE AVERAGES 1996/97	22
th GRADE AVERAGES 1996/97	23
SUM OF ALL GRADES AGGREGATES 1996/97	24
SUNDAY LEAGUE AVERAGES 1996/97	28
COLTS AVERAGES 1996/97	29
st GRADE AVERAGES 1977/78 to 1996/97	30
st GRADE MATCH RESULTS 1977/78 to 1996/97	35





#### **SPONSORS**

The Subiaco-Floreat Cricket Club would like to thank the following sponsors for the help and support received from them during the 1996/97 Season.

**General Sponsors** 

Asea Brown Boveri

Healthways Smoke Free

Wembley Settlements

Fitzgerald Realty

The Wembley Hotel

Wembley Physiotherapy

Orbit Gyms

JH Wilberforce Pty Ltd

National Australia Bank

KPMG Chartered Accountants

Superline Plastic Products

F E Leahy & Co

Parry Hann & Associates

Sports Specialists

Ramsays Retravision

### Special Non-Playing Members

Alan Bolton Kerry Darragh Dennis Franks Greg Maskiell Glen Travers Fred Wilkinson Ray Young



# **SUBIACO - FLOREAT CRICKET CLUB (Inc)**

### **OFFICE BEARERS 1996/97**

PATRON

Dr Elizabeth Constable (MLA)

PRESIDENT

Mr I. Plaisted

VICE PRESIDENTS

Mr K. Darragh Mr J. Worland

Mr G. Catlin

SECRETARY

Mrs J. Plaisted

TREASURER

Mr F.E. Leahy

MANAGEMENT COMMITTEE

Mr C. Beattie

Mr A. Bolton Mr B. Le Tessier Mr G. Swan Mr K. Payne

CHAIRMAN JUNIOR COUNCIL

Mr R. Bolton

WACA DELEGATES

Mr K. Payne

Mr R. Bolton (Juniors)

SENIOR COACH

Mr I. Herbert

LIFE MEMBERS

R.A. Robinson, H.C. Howard, F.A. Barnard,

D. Blair, D.S. Drew, T.E.E. Jones, A.D.M. McIntyre, J. Everett, Mrs J. Everett, C. Pegler, A.D. Drew, C.R. Farley, L. Mills, S. Briggs, T.H. O'Dwyer, D. McCraw, M.C. Bolton, J. Langer, W.M Gardiner, J.W. Rutherford, A Burnett, R.D. Burgess,

H.N Gutherie, J.H.E Dickens, B.G. Hayes D.F. Phillips, W.W. Turner, M.C. Lee, D.E. Hoare

J.M. Hubble, A.R.B. King, R.G.H. Hann, D.F. Phillips, L.J. Barnes, J.R. Lyons, Mrs B. Beecroft, R.W. Statham, G.L. Stafford, A.D. Bolton, G. Lees, T.M. Alderman,

K.D. Payne & G.W. Fitzgerald.

CAPTAINS

Mr M. Goodwin (1st Grade)

Mr G. Godfrey (2nd Grade) Mr C. Palmer (3rd Grade) Mr G. Catlin (4th Grade)

A GRADE SCORER

Mr P Tompson

BANKERS

Season 1996/97

National Australia Bank



#### AWARD WINNERS 1996/97

CHAMPION CLUB CRICKETER L.B. BOLTON SHIELD	Daniel Quai
1st GRADE FAIREST & BEST PALS MEDAL donated by Procurement and Logistic Services	Gavin Swan
BEST CLUBMAN GRAHAM LEES MEMORIAL AWARD donated by Dr Elizabeth Constable MLA	Greg Catlin
SPINE AWARD for Spirit, Performance, Involvement, Nature & Effort. donated by Wembley Physiotherapy	Brendan Balcombe
JUNIOR CRICKETER OF THE YEAR donated by Wembley Physiotherapy	George Christodoulou
MOST IMPROVED CRICKETER donated by John Worland	Simon Leahy
COACH'S ACHIEVEMENT AWARD donated by Graham Stafford	Vince Rule
Ist GRADE BATTING AWARD A.D. DREW MEMORIAL TROPHY donated by the Hann Family	Murray Goodwin
1st GRADE BOWLING AWARD JOHN NICE MEMORIAL TROPHY donated by the Nice Family	Peter Capes
2nd GRADE BATTING AWARD KARL PLAISTED MEMORIAL TROPHY donated by the Plaisted Family	David Darragh
2nd GRADE BOWLING AWARD donated by the Kevin Payne	Gary Godfrey
3rd GRADE BATTING AWARD donated by Ron Burgess	Dylan Allsopp
3rd GRADE BOWLING AWARD donated by Jim Rule	Sam Howman
4th GRADE BATTING AWARD donated by the Ted Leahy	Daniel Barnes
4th GRADE BOWLING AWARD donated by Kerry Darragh	Ryan Parkin

Life Membership awarded to Greg Fitzgerald, 1st Grade games record holder (163)



## SUBIACO - FLOREAT CRICKET CLUB (Inc)

#### PRESIDENT'S REPORT

Well another Cricket year has come and gone, with our 1st Grade side finishing in 8th position with five wins (including two outrights) which was pleasing. Had we not suffered three soft losses against Mt Lawley, Claremont-Nedlands and Fremantle we would have finished in the top four and qualified for the finals.

That's cricket I guess, and other clubs could say the same thing. However, some positives did evolve, I thought our Coach Ian Herbert did an superb job bringing forward some players who have been around the 1st Grade scene for some time, in particular Vince Rule, who had an excellent season and was unlucky not to score his maiden 1st Grade 100. Of the younger brigade, Simon Leahy showed maturity far beyond his years and steered us over the line in a couple of tight situations which augers well for the future of the club.

Second & Fourth Grades both won five games and finished tenth on their Premiership Tables, however both showed improvment toward the end of the year.

The only side to make the finals was our Third Grade. Under the astute captaincy of Clinton Palmer and with a balanced blend of experience and youth, the thirds played well in scoring 250 plus runs nearly every time they played. Unfortunately they were beaten by Perth in the final, a game thwarted by rain with only one day's play over the entire Easter break, Dylan Allsopp scored a fine 70 not out.

Special mention must be made of Murray Goodwin who had a sensational season scoring 550 in the "Smoke Free" League, 100 plus in the "Bankwest" Sunday one day competition and 428 in Sheffield Shield, in all scoring over 1000 runs for the year, as well as posting his maiden century for WA and cementing his position at a 1st Class level.

Sponsorship money was hard to come by this season, specially with the loss of our previous major sponsor GIO, however we will still come though "in the black" with good profits derived from the Bar, thanks to John Worland, successful social events run by Bernie Le Tessier, and our Quiz Night "Master" Ronnie Burgess, together with other events such as the President's Dinner, Wilberforce and Legends Days, lunches and clever management from our Treasurer, Ted Leahy.

I cannot conclude without thanking all of my hardworking committee in particular, my wife Jan, who was thrown into the Secretary's job at the last moment due to lack of a nomination at last year's AGM, she also shared in preparation of lunches with Jim Rule, providing afternoon teas on the majority of occasions as well as catering for the "Wilberforce" and "Legends"days. Well done Jan, you have an amazing capacity for work and your efforts are much appreciated.

Our Scorer Phil Tompson did another great job this year and his efforts are greatly appreciated.

I have decided to tender my resignation as President of SFCC after this season and would like to offer my sincere thanks to all who have helped me over the past three years, I feel privileged and proud to lead such a friendly, professional cricket club.

Ian Plaisted President

Season 1996/97

"Long ago I discovered there was more to life than cricket: and more to cricket than runs and wickets." DAVID FOOT from "Cricket's Unholy Trinity"



## **Balance Sheet**

As at 30th April 1997

	1996/97 \$	1995/96 \$
Accumulated Funds		
Opening Balance	8,286	6,887
Net Profit	796	1,399
Total Accumulated Funds	9,082	8,286
		Bedatument and Josephine
Represented by:		
Current Assets		
Cash		
Cash At Bank - NAB	5,414	11,003
Cash At Bank - CBA	1,248	985
Accounts Receivable Inventory	2,135	6,250
Cricket Equipment	1,278	1,917
Clothing & Ties	2,226	-
Total Current Assets	12,301	20,155
Non-Current Assets		
Plant & Fixtures	3,199	3,199
Less: Accumulated Depreciation	(2,092)	(1,640)
Total Non-Current Assets	1,107	1,559
Total Assets	13,408	21,714
Current Liabilities		
Creditors & Borrowing's		
Accounts Payable	4,326	13,428
Total Current Liabilities	4,326	13,428
Total Liabilities	4,326	13,428
Net Assets	9,082	8,286



# SUBIACO - FLOREAT CRICKET CLUB (Inc)

# **Income and Expenditure Statement**

For the Year ended 30th April 1997

			1996/97	1995/96
			\$	\$
Income	Subscriptions:	Senior	6,186	8,046
		Non Playing	1,600	815
		Veterans	680	300
	Profit on Bar Tradir	ng	7,063	7,150
	Profit on Sales of C	aps, Shirts etc.	(127)	(15)
	Profit on Lunches		461	-
	Coaching Clinic		1,470	-
	Coca Cola Pitch Co	ntribution	1,400	-
	Donations		1,855	365
	Fund Raising		2,279	6,475
	Interest Received		703	15
	Sponsorship		9,257	12,130
	WACA Receipts:	Sundries	1,928	648
		Grant	6,000	6,750
		Prizemoney	-	300
			40,755	42,980
Expenditure	Afternoon Teas/Fur	nction Costs	833	3,008
o aprilation of	Bank Fees		259	205
	Cleaning		651	581
	Cricketing Costs		13,008	12,476
	Depreciation		452	640
	Electricity		431	715
	Equipment		4,324	5,227
	General Expenses		287	418
	Ground/Pavilion H	ire	8.085	13,549
	Ground/Pitch Main		1,250	
	Ground/Pitch Repla		5,350	٠.
	Hire of Plant & Equ		372	252
	Insurance	aipment	2.468	2,019
	Interest Paid		3	2,017
	Licensing Fees		240	220
		Ctationary	1.045	795
	Postage, Printing & Repairs & Mainten		212	55
	Scoreboard Attenda		200	160
		ants	200	60
	Signwriting		365	356
	Telephone		1,506	495
	Trophies WACA - Fines		230	345
			1,609	343
	WACA - Umpires			
			43,180	41,581
Net Profit be	fore Extraordinary	Item	(2,425)	1,399
Extraordinar	ry Item			
Extraorumai	•	1 1005/07	(2.221)	
Extraordinar	Ground Expenses (	over Accrued 1995/96	(3,221)	-



#### COACH'S REPORT

This season has at times been frustrating but overall a most rewarding experience. Subiaco-Floreat is a club that is rebuilding through the development of its own juniors. To enable these young players to develop into highly skilled cricketers greater emphasis needs to be placed on the importance of training. Every player must be more aware of his technical deficiencies and consult with coaching staff to develop training strategies to improve.

After a poor start the 1st Grade team finished the season strongly. Excellent victories were recorded against Wanneroo, Gosnells, Bayswater Morley (outright), North Perth and Willeton (outright). It was disappointing to lose close games against University, Mount Lawley and Claremont-Nedlands. Provided we maintain player strength and our young players improve as expected we should finish near the top four next season.

I would like to thank Murray Goodwin for his efforts as club captain. He again had a highly successful season and is to be congratulated on his fantastic performances with the bat for Western Australia. Peter Capes' return to the club was most appreciated. He contributed grandly with the ball and took over the captaincy when Murray was unavailable due to state commitments.

The 2nd Grade team's overall performance suffered as a result of losing many close games. Being competitive is not good enough if teams wish to play in the finals. By winning three of their last four games they showed exactly what they were capable of. Gary Godfrey did a fantastic job as captain and many young players will have learnt a lot playing under him.

The 3rd Grade team was the shining light in our club this season. Clinton Palmer led his team superbly. After finishing third on the Premiership Table they won the semi-final convincingly. Unfortunately they lost the final after suffering the consequences of a badly rain effected match. All players contributed strongly during the season and the club is proud of their achievements.

I would like to thank Greg Catlin for his efforts captaining the 4th Grade team. Greg had to continually seek players willing to play and on many occasions had a very inexperienced team as we had to rely on players from the under 17's and 15's. This problem will need to be addressed next season.

Craig Harms again did a fantastic job. His assistance at training was invaluable. Players are showing the benefit of his work in the mental skills area.

The support I received from the committee in my first year as coach was most appreciated. I would like to thank our Practice Captains John Worland and Chris Beattie for their assistance at training. On behalf of the captains I would like to congratulate Kerry Darragh for the professional way he ran selections.

In concluding I would like to bring to the attention of all players the need of commitment to your team and especially the club as a whole. Players who withdraw from fixtures make it impossible to field teams at full strength. If we are going to be successful, all players must train regularly and be available for every fixture.

I look forward with optimism to next season

Ian Herbert Club Coach



## SUBIACO - FLOREAT CRICKET CLUB (Inc)

#### 1st GRADE CAPTAIN'S REPORT

1996/97 was a year that consisted of some real highs and lows that were quite frustrating for all the players involved, not only on the cricket field but also most Saturday nights!

I must admit that I really enjoyed captaining the Club this year but the best thing about captaining Subiaco-Floreat is that every player once on the field gave 100% and that certainly helps any captain and makes things so much easier.

A very important part to any season is starting off well. We played University at James Oval, where it was an absolute freeway. All the guys were underdone as far as match pressure and match practice goes. My dismissal for handling the ball was most the most disappointing part as I was set to make a decent score. I didn't for one moment try and knock the ball away with my hand, I can only put it down to a reflex action, as I originally intended to protect my head. I honestly feel we would've made close to 300, as it was 228 wasn't enough.

Things could've been different if Paddy McKeown had been there to strengthen our batting. The University bowling was ordinary on a freeway, so he might have made a few and put his mind in a totally different frame, thus his season could've had a much different outcome.

Subiaco-Floreat's problem is not the ground or pitch (though a good one would help) it is simply that Subiaco-Floreat has a number of players who are good 2nd grade players who come unstuck when making the jump to 1st grade. I feel these 2nd grade players have the potential to play 1st grade, but it's like anything in life, you have to work hard to progress. I don't want to be a teacher and lecture the guys, but if they just took five minutes of their time to think what it would feel like to play in the finals of the 1st grade pennant league for Subiaco-Floreat they would realise finals cricket would be high pressure, intense cricket and would be the closest thing to 1st class cricket they would get to play.

Subiaco-Floreat has probably the best social spirit going around. From a personal point of view it was great to feel as though I could have a beer with anyone in the Club, proving how close and strong the spirit of Subiaco-Floreat is. However, this social spirit might have something to do with a lot of players not reaching their true potential and proving to themselves that they could perform well in 1st grade.

All the games I played in were mostly enjoyable but there was odd one that really annoyed me. I won't mention the close ones we lost or the odd one we got hammered in, because like everyone I like to win and celebrate.

The outright win against Bayswater-Morley was certainly the best win I have experienced from a game and team point of view. Everyone performed well and helped us achieve the outright. Peter Capes and Gavin Swan were devastating in their efforts with the ball and far too good for the Baysie Boys. While Robbie Campbell and Vince Rule got us off to reasonable starts in both innings, having Paddy come in and smash some big sixes was certainly the turning point as Bayswater-Morley lost the plot, taking a lot of pressure off myself. I must say these sorts of wins with the whole team contributing are what we play cricket for.

I must pay particular credit to Peter Capes and Gavin Swan on their efforts with the ball over the season. Peter is what I like to refer as a Rolls Royce opening bowler. His bowling amuses those of us behind the stumps as batsmen try to survive. It was the perfect opening combination having Peter and Gavin bowling in tandem with the new ball. Gavin had a number of catches spilt in the slips all season, but his bowling was tremendous providing the odd thunderboltt to put fear in fear in the batsmen facing and those waiting to come in. Gavin got better as the season went on and I feel he deserves a go in the State Squad because he has "it" as a fast bowler. "Swanny" gives 110% bowling down wind or into the wind and when it's swinging there aren't too many bowlers in this State who I

Season 1996/97



would rather have opening the bowling. Congratulations Gavin and Peter on a great season and I hope it continues next year as it was a pleasure to captain the best opening combination in 1st grade.

Throughout the season Subiaco-Floreat had some promising performances with the find of the season being Brendan Balcombe. "Bomber" had a solid season in his debut in 1st grade rising to the level required and performing well. Stuart Boyle showed he has promise not only with his hard hitting and free scoring but also with his handy seamers. Robbie Campbell, Vince Rule and Simon Leahy will all be important to Subiaco-Floreat's top order next season as we do tend to collapse at the top.

There was a quiet contributor throughout the year and no-one has more pride in his performance than wicketkeeper Micheal Simpson. "Simo" had a solid season behind the stumps and is more than capable with the bat. I hope "Simo" realises that he can bat as I really feel he could average close to 40 and help our middle order immensley.

It was an inconsistant year for Subiaco-Floreat but finishing with an outright was fantastic, I'm glad I was able to be there to watch and support an extraordinary last day.

I want to thank all the players who played 1st grade this season. I really appreciated the effort and all the guys were good fun especially when a win or if it was a Saturday night or any night for that matter. Many thanks to "Herbie" for putting your time and effort in and I am also speaking on behalf of the Club. Your efforts were greatly appreaciated and you did well.

One final thank you to Phil Tompson for scoring. On behalf of the 1st grade everyone of us appreciated your time and effort that you put in.

Murry Goodwin 1st Grade Captain

Season 1996/97

A Captain's role - "A PR officer, agricultural consultant, psychiatrist, accountant, nursemaid and diplomat." DOUG INSOLE



## SUBIACO - FLOREAT CRICKET CLUB (Inc)

#### 2nd GRADE CAPTAIN'S REPORT

Entering the 1996/97 season following the loss of so many senior players from the top two sides, second grade were unlikely to be a force in the competition. Following the disappointing loss of round I the situation was made worse by the surprise retirement of Peter Gonnella who had returned to the club offering valuable experience and worth in his capacity as second grade captain. Not surprisingly the team was crushed by previous premiers Perth in round 2, suffering an embarrassing outright defeat. Another narrow loss in round 3 and a position at the bottom of the ladder suggested that this was to be a long season indeed.

To the credit of the players, the team was able to regroup and despite some shaky batting performances, inflict two morale boosting victories and totally control two matches for unfortunate draws up to Christmas. A disappointing three run loss to Claremont-Nedlands, followed by a sour defeat at the hands of Bayswater-Morley, put an end to an otherwise promising trend after Christmas, and again the outlook was became somewhat bleak. Resisting the traditional end of season "fade off", the players once again rallied to win three of the last four matches, the last of which was an exciting outright victory over Rockingham-Mandurah, ending the season on a terrific note. Only a hard fought one wicket loss to North Perth on a difficult pitch blemished an otherwise remarkable sequence of weeks.

In retrospect it was largely inexperience that resulted in the four narrow losses throughout the season that would have otherwise seen the team finish as leaders on the points table, such was the nature of the points system. Though it is unlikely that every close game during a season will end favourably, converting at least two of these matches would have guaranteed a finals berth. The drain of playing stock, though devastating in the final analysis this season, enabled many promising young players to emerge and grasp manfully the opportunities afforded. The rise to first grade of Simon Leahy, following some accomplished batting displays; the immediate success of George Christodoulou as a wicketkeeper of class; the emergence of David Bolton as a capable batsman who shows the steely resolve familiar to his name; the demonstration that Damien Casson is indeed a future first grade batsman; and the inclusion of state U/17 representatives Sam Howman and Chris Cann, the latter of whom displayed his immense batting promise with some fine innings, heralds a new and exciting series of cricket seasons ahead. I have no doubt that all of these young players will become regular first grade participants for many years if they fulfill their potential.

In a season of relatively moderate personal achievements statistically, some outstanding performances are worth noting:

David Darragh showed that he is an improved batsman with more than good reason to re-acquaint himself with first grade cricket with a particularly competent match winning innings of 133 not out against trendsetters Fremantle, backed up with some important innings of 89, 63 and 58 throughout the

Danny Quai's innings of 96 not out against Gosnells transformed the match completely and resulted in an unexpected victory. No doubt a full season in second grade would have seen him record some very impressive all round statistics.

Simon Leahy's innings of 99 not out against University reflected a maturity beyond his years and our disappointing loss was a total injustice to his remarkable innings

Robert Campbell's only innings of 151 following a four week "tour of duty" in Mauritius showed that such "duties" are not only good for the soul!

Tim Silinger's worth as a batsman became evident and he will no doubt have a more fulfilling season as an allrounder next year following his consecutive innings of 49 and 50 as a surprise opener.



Phil Henryon proved that he still has much to offer the club with a string of bowling performances that all but embarrassed the opposition. In particular his 6/59 against Fremantle demonstrated his improvement in both skill and temperament, and his return to first grade was more than justified. With careful nurturing, Phil will become a proven match winner.

In general terms, Paul Kirk turned in another solid season both on and off the field, whilst the captain managed to occasionally justify his position in the side beyond tactical and managerial purposes. A solid pre-season effort will do nothing to dampen the prospects of either of these gentlemen in 1997/98.

Joel Murphy enjoyed moderate success by his own high standards but nevertheless proved to be a valuable contributor each week. His attitude and work ethic on the field set a great example and the void he leaves upon moving to the U.K. will not be filled easily. He has served the club well over the past seven years and we wish he and his family every success in their new life overseas.

Finally in summary, the second grade of 1996/97 can be proud of their achievements in overcoming many of their initial setbacks. The team must however continue to improve on what has been effectively been a development year. The players with such great potential as mentioned must aim to quickly realise much of this promise and take every opportunity that exists to further their careers. All players in second grade have a responsibility to the club to ensure that it is represented to its maximum capacity in first grade each week, as a result of strong competition for positions.

On a personal note I would like to thank the players for their support in my first season as captain and in particular Ian Herbert for his marvellous efforts which certainly eased many of my responsibilities. I look forward to 1997/98 and the possibility of continuing the captaincy over what promises to be very successful season.

Gary Godfrey 2nd Grade Captain

> "When you win the toss - bat. If you are in doubt, think about it - then bat. If you have very big doubts, consult a colleague - then bat." W G GRACE



## SUBIACO - FLOREAT CRICKET CLUB (Inc)

### 3rd GRADE CAPTAIN'S REPORT

Despite not achieving the ultimate goal in the third grade competition, there are numerous positives to take away from the 1996/97 season. From the teams perspective, an eight win, two loss record and three draws in the qualifying rounds and a berth in the final reflects fairly the keen desire to achieve success as a team. This desire came from within the players, who each wanted success from their teammates as much as for themselves. This was particularly evident towards the end of the season when we came home with a run of five wins and only a wicket away from winning six consecutively.

The two early season losses provided the team with some valuable cricket lessons. From these games we leant how to cope better with pressure being applied from the bowling side. Such experiences were not lost on the younger members of the side and so the club will benefit as these players progress.

As a captain it seemed a waste to me to have ten other brains on the field and not to use them, and so I would like to thank the players for their input when it was requested and encourage you to always be "thinking cricketers". Special thanks to my vice Nick Rule, Richard Brown, Martin Nice and Daniel Ouai in this respect.

Commenting on the individual performances, I would firstly like to congratulate Dylan Allsopp for his fine performance with the bat. Dylan took a little convincing of his own ability, but once he believed in himself the runs flowed. A good example was his 110 against Fremantle and his unbeaten 70 in the final. As can be seen from the seasons statistics Dylan was not alone. Daniel Quai who joined us relatively late in the season was a tremendous asset. His 126 was instrumental in one of the teams most satisfying victories of the year against North Perth. "Brownies" carribean style batting was always a pleasure, if not a little nerve numbing to watch. Richie also has the ability to apply himself to scoring big runs and deserves credit for his 106 against Claremont-Nedlands when the team needed such an innings.

The above mentioned batsmen owe some credit to our usual openers, Nick Rule and Martin Nice, who could always be relied on to see off the new ball and go on to make valuable contributions themselves. Nick's re-ignited thirst for runs was rewarded with an energy sapping 104 against Fremantle. David Bolton was the first to get the ball rolling with the centuries. His 117 against Gosnells showed he has the ability to concentrate for long periods of time and for this deserved his promotion to the seconds.

Middle-order batsmen who can time the ball well are invaluable in destroying a tiring attack. We were fortunate to have two such batsmen in Brendan Bow and Duncan Bond who both accepted that this was their role and rarely failed to demoralise oppositions. The rest of the batting line up was given little opportunity given that the top order got the score to 280 and beyond on eight occasions primarily by themselves. However Nick Plaistead and Sam Howman showed their capabilities whenever the occasion arose.

With good totals to defend the bowlers all had a good season with aggressive fields able to be set. The three highest wicket takers - Adam Cross, Sam Howman and myself captured 74 wickets at an overall average of 16.81. Fortunately for the club, two of the three are young prospects. Sam's impeccable line & length and an enviable ability to move the ball either way at a good pace made him a worthy recipient of the bowling award. Adam was our most destructive bowler snaring 28 wickets. As the batsmen that he bowls to improve so will the number of times he finds the edge of their bats. The improvement in Adam's bowling was most encouraging.

Opposition captains often remarked on the depth of our attack, which was not surprising given that Duncan Bond, Martin Nice, Daniel Quai, Dylan Allsopp and myself could be relied upon to provide good support and each had spells during the year that turned matches our way.

The intensity and effectiveness of the bowling attack can only be as good as the support received from the field, and to this end Nick Plaistead should be well pleased with his effort. Nick organised the slip



cordon making sure most catches went to hand and usually stuck. He also gave a lot of encouragement to the bowlers and kept us all alert in the field. He and the rest of those in close proximity to the batsmen made sure the batsman always had a couple more distractions to deal with. "Bowie" was a fine short-leg fieldsman but this wasn't the only reason we had him camped under the lid.

Unfortunately for the team we lost the services of Martin Nice on the eve of the finals with a broken finger. Martin's contribution with both bat and ball during the season showed what a good cricketer he is. His absence opened the door for Daniel Barnes in the semi-final and he didn't waste the opportunity, taking two catches and putting together a stylish unbeaten 36.

The team played almost faultless cricket in the semi-final in disposing of Gosnells with just under two sessions to spare. After the bowlers did the job dismissing Gosnells for 152, Nick and Dylan set us on our way finishing the day at 0/68. Sunday took care of itself with Nick Rule, Richie Brown and Brendan Bow scoring fifties.

We had beaten all the sides which made up the four and were coming of a comprehensive win in the semi and so were looking forward to playing more good cricket in the Grand Final. ...... As we still are.

Factors beyond our control like two inches of rain and overly conservative umpires forced our hand (bad pun considering the amount of cards we played over Easter) and we declared at our first day total of at 5/161 leaving us just over a session on the final day to get 10 wickets. It wasn't to be. I hope the feeling of being robbed of a fair chance at the flag will help us win the minor premiership next year.

In conclusion I would once again like to thank the members of the side throughout the year for their support. This helped in making the season one of the most rewarding and enjoyable. My thanks also go to Ian Herbert for his guidance and interest in the future of the club, Kerry Darragh, John Worland and Ian Plaistead for their encouragement and all those who make it possible for us to just front up on a Saturday and play.

Clinton Palmer 3rd Grade Captain



## SUBIACO - FLOREAT CRICKET CLUB (Inc)

#### 4th GRADE CAPTAIN'S REPORT

What started out as a promising season when the 4th's won the first three games, quickly turned into a season of disappointment when the 4th's struggled to win only two of the last nine games to finish the season in tenth place.

The poor performance can be attributed to three factors,

- · a lack of depth in the Club following some early season retirements and a significant number of players being unavailable in each round,
- · woeful batting performances,
- an inability to hold catches.

This season 35 players played for the 4th's, including eight U/17's, five U/15's, three mates of players and a dad. With the exception of the two of the U/17's who were regulars, these players were called into the team to make up the numbers, when players throughout the grades made themselves unavailable, often at the last minute. This instability made it difficult to create and maintain a team spirit and to play cricket to a consistant match plan. It also contributed to the fouths playing some real dismal cricket.

However, the junior players who turned out for the 4th's all showed that they possessed the basic skills to develop into good senior players for the Club. Their willingness to play at short notice was much appreciated by the Captain.

The lack of batting in the 4th's is best demonstrated by the fact that we scored over 200 only four times. It was no co-incidance that we won those games. Individually only three 50's and one 100 were scored by 4th's players over the season, a very poor return. Duncan Bond's 123 against South Perth and 16 year old Myles Quinn's 95, against University in his first senior game, were fine efforts that set up two wins for the team. Of the regular players only 15 year old Daniel Barnes with 275 runs and Andrew Rintoul showed any degee of application when batting.

The bowling on the other hand was of a good standard and we consistantly bowled teams out for between 150 and 200. However, this is was of little use when the team could only score 120! Ryan Parkin was the pick of the bowlers, taking 23 wickets at the good average of 14.52. His single-handed demolition of Claremont-Nedlands when he took 7/38 off 18 consecutive overs was outstanding. Ryan is big, strong, deceptively quick and gets the ball to lift of a good length. With a full pre-season, Ryan should progess up the grades next season.

Andrew Rintoul bowled well through out season, with a lot heart but not much luck, but still managed 16 wickets. Medium pacers Greg Catlin, Justin Dwyer and Steve Wright all bowled their outswingers to good effect. Developing leg spinners Robbie Parr and Daniel Barnes bowled well when called upon, but a lack of runs on the board, unfortuneately reduced their opportunities.

Catching was a real problem. We couldn't. Three potential wins were lost (not withstanding our own low scores) because catches were grassed that should have been taken. We dropped anywhere between four and eight catches an innings, which was exasperating. This is an area that all 4th's players should work on for next season. Arriving to a game on time, sober and with few hours sleep under the belt, can also improve a player's catching ability.

To the half dozen or so players who turned out each week to play, thanks for your efforts.

With the graduation of most of this years U/17 players, hopefully next season there will be 44 or more senior players who want to play for Subiaco-Floreat each and every week, which will give the fourths a base to become a competeitive team and play good cricket every week.

Greg Catlin 4th Grade Captain

15

page



#### VETERANS REPORT

That rugged band of wily warriors who represented the club in the veterans competition completed another memorable season. Memorable this season for the fact that over the course of 6 games there was not a single torn hamstring. A fact assisted by Alan Bolton and Ray Elliott not donning the creams this season.

Memorable also for the fact that the veteran of veterans, Ivan Lally (61 years young) has hung up his battered pair of boots. Ivan has been a wonderfully enthusiastic player for the club since the inception of the veterans competition.

Apart from a disappointing batting effort against North Perth all games were very good contests providing players with the chance to show that few of their skills had dimmed over the decades.

Haydn Chrystal was a fine acquisition to the team and showed rare batting ability and great control over his tricky leg spinners.

Reg Statham produced a great knock against Perth when he held the batting together and hit former state leggie, Bob Paulsen out of the ground. He also produced sterling efforts with his medium pacers .. the unluckiest bowler around the place.

Steve Mulhall returned to town this season and fitted back nicely into the side. Some useful efforts with the bat were overshadowed by his long spells of well controlled slow mediums.

Larry Davies was at the head of the team's long list of off spinners. Always tight, never spinning the ball he was great value at all times. Definite leadership material.

Peter Rudolph was a gutsy performer in all games with gritty batting and those looping legspinners.

Ross Bolton had a quiet season by his standards - look out next season. Always prepared to offer his advice to the skipper and avoid taking the keeper's gloves.

Peter Farmer was a superb recruiting coup .. a fit athletic fast bowler is a rare commodity in this comp.

Peter Farley is the consumnate English pro .. bats a bit , bowls a bit , grabs the occasional one at slip, can always be relied upon in the crunch.

Ivan Lally kept wickets in every game in his livewire manner. When everyone is flagging Ivan is still jumping around and setting the standard. He kept finding ways to get out when batting this season. There is a big hole to fill with his retirement.

Tubby Mellows has lost none of his ability to swing the ball and in the two games he played had the ball ducking both ways on an immaculate length.

Paul Forrestal showed only flashes of ability with bat this year but what about the bowling? Why wasn't he given a bowl 25 years ago?

Paul Forrestal Veterans Co-Ordinator



## SUBIACO - FLOREAT CRICKET CLUB (Inc)

#### 20th ANNIVERSARY ALLSTAR XII

The Subiaco Cricket Club was admitted to the Western Australian Cricket Association in 1907 and was formed from the remnants of a mercantile cricket club based at Whittakers timber mill in Subiaco. The Club played originally at Subiaco Oval before re-locating to Rosalie park in the 1960's. Some of the more well known Subiaco players were Johnny Rutherford, Jim Hubble, Des Hoare and a certain R. J. Hawke.

The Floreat Park Cricket Club was founded in 1956 and admitted to the Western Australian Cricket Association as a 2nd Grade Club. The most famous players to be produced by the Floreat Park Club were Australian Test players Kim Hughes and Terry Alderman who both went to the Subiaco Club to play 1st grade cricket before returning to Floreat Oval when the two clubs merged.

The Subiaco-Floreat Cricket Club was founded in 1977 as a result of the amalgamation between the Subiaco Cricket Club and the Floreat Park Cricket Club and commenced playing in the 1977/78 season. Ray Young was the inaugral President and Paul Nicholls the inaugral 1st Grade Captain.

Season 1996/97 was the twentieth season of cricket for the Subiaco-Floreat Cricket Club. While October 1997 is the official twentieth birthday the Club decided to celebrate the anniversary on the 16th March 1997 by hosting a match between the current 1st grade side and team made up of past 1st grade legends. This match was the last played on the old Floreat Oval pitch before it was replaced.

At the end of the match, Life Membership was presented to Greg Fitzgerald, who is the 1st grade games record holder with 163 games. Presentations were also made to Brian Raven, Peter Jones and Giles Bush who all played over 100 1st grade games for the Club.

As Subiaco-Floreat's first twenty years came to a close, it was considered appropriate to look back over the past and name an Allstar Team of the best players to have represented the Club over the past twenty years. To be eligible players must have been Australian and have played 25 1st grade games.

#### THE SUBIACO-FLOREAT ALLSTAR XII

				Batt	ing			Bowling						
	Matches	Runs	50's	100's	Average	Catches	Stumpings	Overs	Runs	Wickets	Average	5w/Inn		
Glenn Hughes	84	2423	13	3	25.78	48		267	622	25	24.88	-		
Murray Goodwin	56	2821	16	5	48.64	17	-	13	70	3	23.33	-		
Paul Nicholls #	31	1401	7	3	42.45	13	-	331	845	34	24.85	-		
Kim Hughes	44	2498	9	9 8 56.77		21		6	24	-		-		
Peter Gonnella	70	2237	37 13 4 37.28		20	-	7	16	1	16.00	-			
Jim Hubble	66	1616	9	-	29.38	51	-	289	820	36	22.78	-		
Greg Fitzgerald *	163	3488	13	2	21.66	274	41	5	18	-	-	-		
Tom Hogan	46	817	5	-	24.76	27	-	853	2081	107	19.45	5		
Giles Bush	136	1028	1	:	12.24	47	-	2913	7686	386	19.91	26		
Terry Alderman	67	464	1	:	14.06	37	-	1388	3404	231	14.74	14		
Brian Raven	109	282	-	- = 7.62		25	-	2123	5039	269	18.73	11		
<b>Todd Breman</b>	66	1632	9	1	26.75	27	-	489	1835	75	24.47	5		

20th Annual Report

17

page

<sup>#</sup> Captain

<sup>\*</sup> Wicket Keeper



## 20th ANNIVERSARY LEGENDS MATCH Subiaco-Floreat 1st Grade Vs Subiaco-Floreat Legends

Floreat Oval 16th March 1997 Toss won by The Legends

	1ST	GRADE			LE	GENDS	
1	Robbie Campbell	Caught P Gonnella bowled T Breman	5	1	Peter Gonnella	Caught M Elliot Bowled C Isles	50
2	Vince Rule	Bowled T Breman	16	2	Hayden Chrystal	Bowled P Neale	14
3	Simon Leahy	Caught II Chrystal bowled C Lubich	6	3	Steve Mulhall	LBW B Balcome	13
4	Chris Isles	Stumped T Hogan	33	4	Greg Fitzgerald	Bowled C Isles	0
5	Matt Elliot	Caught C Smailes bowled T Hogan	53	5	Chris Smailes	Bowled G Godfrey	1
6	Peter Capes	Caught T Breman bowled H Chrystal	28	6	Todd Breman	Caught C Isles bowled B Balcombe	12
7	Gavin Swan	Caught T Hogan bowled H Chrystal	18	7	Craig Lubich	Caught V Rule bowled B Balcombe	22
8	Paul Kirk	Caught S Mulhall bowled H Chrystal	4	8	T Hogan	Caught C Isles bowled V Rule	21
9	Micheal Simpson	Caught C Lubich bowled H Chrystal	1	9	Graeme Porter	Caught S Leahy bowled B Balcombe	4
10	Brendan Balcombe	Not Out	7	10	Peter Jones	Run Out	7
11	Paul Neale	Caught C Lubich bowled H Chrystal	.8	11	Kevin Penter	Bowled V Rule	17
				12	Giles Bush	Caught P Kirk Bowled V Rule	0
				13	Brian Raven	Not Out	4
		Sundries	9	-		Sundries	15
		TOTAL	188	-		TOTAL.	182
BRTBCLGPTHGBKP	O-M-R-W aven 6-3-13-0 reman 6-0-25-2 ubich 7-0-31-1 orter 4-0-18-0 ogan 7-1-25-2 ush 7-0-33-0 enter 6-0-33-0 thrystal 3.3-1-5-5			G S P No P Co P Ki G G C Is B B M E R Co	apes 4-2-3-0 irk 4-0-18-0 odfrey 6-0-20-1 les 5-0-13-2 alcombe 6-0-20-4 illiot 2-0-13-0 ampbell 4-0-17-0 impson 2-1-7-0 ule 4.4-0-16-	3	



## SUBIACO - FLOREAT CRICKET CLUB (Inc)

#### JUNIOR COUNCIL REPORT

Another extremely successful season was achieved by the three sides that make up our Junior Cricket Club. The U/13 Inverarity Shield team had an outstanding year in winning every game convincingly before having an outstanding win in the Grand Final to take the Premiership Flag. This team had tremendous depth in both batting and bowling, however Philip Edwards and Chad Jones were outstanding throughout the year and their opening partnership of 117 in the Grand Final set up the victory. Thanks are extended to Coach, Wally Edwards and assistant coach, David Jones for their work with the boys during the year.

The U/15 team had a mixed season and could easily have played off in the finals had they been able to field their best team more often. However school cricket commitments and injuries, to key players meant that the side struggled to win enough games to make the finals. David Kinsella was the sides best player during the season with both bat and ball and his efforts were very consistent all year. Thanks to Alan Bolton for coaching the side this year and to all the parents for their support.

The U/17 team had an extremely successful year and played off in the Grand Final, unfortunately losing to a very good Melville side. The season started slowly with a couple of early losses, but then a long sequence of good wins saw the team finish 2nd on the ladder.

Most of the boys in the U/17 team experienced senior cricket with Chris Cann, George Christodoulou, Sam Howman and David Bolton all playing 2nd grade cricket during the year. Congratulations are also extended to Chris Cann, Sam Howman and Kosta Kapinkoff for their selection in the state U/17 team. There were many outstanding individual performances during the year, Chris Cann and George Christodulou making 100's, Daniel Barnes two eighties and Joel Hubble's innings in the semi final against Wanneroo were some of the many highlights. Because of the unavailability of college students, senior selection and the state U/17 tour, the team was rarely at "full strength" and it is a credit to all the boys and coach David Isles that this team achieved the success it did.

Special thanks are extended to David Isles who has "retired" as U/17 coach after doing a great job over the passed few seasons. Also thanks to Rod Cann and the other parents who assisted during the year.

Ross Bolton Junior Council President

Season 1996/97

"One fascination of cricket is that it never ceases to fascinate. To become a devotee in childhood means being hooked for life. Happily it is an addiction for which there is no need of legislation nor government health warnings." DAVID RAYVERN ALLEN from "Cricket: An Illustrated History"

Season 1996/97



## 1ST GRADE BATTING AVERAGES

151 GRADE DATTING AVERAGES											
	Player	Matches	Innings	Not Outs	Runs	Top Score	50's	100's	Average	Catches	Stumping
	Goodwin M	10	11	2	550	137	2	3	61.11	3	-
	Rule V	12	16	2	439	78*	3	-	31.36	5	-
	McKeown P	10	14	1	330	68	2	-	25.38	3	~
	Campbell R	7	11	1	216	54	1	-	21.60	5	-
	Boyle S	10	14	3	215	47	-	-	19.55	3	-
	Simpson M	12	12	-	162	54	1	-1	13.50	23	1
	Leahy S	7	10	2	159	56	1	-	19.88	8	-
	Capes P	10	10	1	151	62	1	-	16.78	2	-
	Elliot M	11	14	1	148	60	1	-	11.38	3	-
	Beattie T	4	5	-	140	28	1	-	28.00	1	-
	Swan G	11	11	2	135	35*	-	-	15.00	3	
	Balcombe B	8	9	5	121	32	1-	-	30.25	5	-
	Isles C	3	4	-	65	33	-	-	16.25	1	-
	Neale P	9	6	1	30	8	-	-	6.00	1	-
	Silinger T	6	2	1	17	9	12	-	17.00	2	-
	Murphy J	1	1	1	15	15*	-	-	-	-	-
	Henryon P	2	2	2	6	4*	-	-	-	-	-
	Kirk P	1	1	1	-	0*	-	-	-	-	-

### 1ST GRADE BOWLING AVERAGES

191 GIGIDE DO WEING IN ELLIGES										
Player	Overs	Maidens	Runs	Wickets	Average	5w/Inn	Best	run rate	strike rate	
Boyle S	23	5	83	6	13.83	-	3/39	3.61	23.0	
Capes P	183	63	380	24	15.83	2	6/26	2.07	45.8	
Balcombe B	147	56	324	16	20.25	1	6/35	2.20	55.1	
Swan G	242	64	732	27	27.11	2	6/21	3.02	53.8	
Neale P	131	24	458	15	30.53	-	3/70	3.51	52.2	
Rule V	8	1	35	1	35.00	-	1/25	4.38	48.0	
Kirk P	17	4	39	1	39.00	-	1/39	2.29	102.0	
Henryon P	20	-	83	2	41.50	-	2/44	4.26	58.5	
Silinger T	77	15	291	7	41.57	-	2/57	3.77	66.1	
Campbell R	22	2	65	1	65.00	-	1/29	2.95	132.0	
Goodwin M	45	4	212	3	70.67	-	1/0	4.67	90.8	
Elliot M	15	1	80	1	80.00		1/32	5.33	90.0	
Isles C	29	10	92	1	92.00	-	1/36	3.17	174.0	
Murphy J	11	4	40	-		-	0/40	3.64		
McKeown P	4	1	15	-	-	-	0/5	3.75		



# SUBIACO - FLOREAT CRICKET CLUB (Inc)

## 2ND GRADE BATTING AVERAGES

Player	Matches	Innings	Not Outs	Runs	Top Score	50's	100's	Average	Catches	Stumping
Campbell R	1	1	~	151	151	-	1	151.00	-	
Boyle S	2	2	-	97	71	1	-	48.50	-	-
Herbert I	2	2		82	49	-	-	41.00	-	-
Leahy S	6	7	1	233	99*	2	-	38.83		-
Quai D	7	8	3	186	96*	1	-	37.20	-	-
Sillinger T	6	6	2	132	50	1	-	33.00	-	-
Cann C	6	8	2	193	69	1	-	32.17	-	÷
Darragh D	12	13	1	381	133*	3	1	31.75	-	-
Gonnella P	1	1	-	30	30	-	-	30.00	-	-
Godfrey G	12	11	3	218	51	2	-	27.25	-	-
Casson D	8	10	2	164	84	1	-	20.50	-	-
Bolton D	3	3	-	56	23	-	-	18.67	-	-
Isles C	10	12	1	180	44	-	-	16.36	-	-
Kirk P	12	12	2	144	42	-	-	14.40	-	-
Balcombe B	2	3	1	24	13	-	-	12.00	-	-
Sillinger P	11	14	2	139	26	-	-	11.58	-	-
Christodoulou G	12	14	1	123	28	-	-	9.46	-	-
Murphy J	12	11	4	66	20*	-	-	9.43	-	-
Neale P	4	4	-	27	15	-	-	6.75	-	-
O'Regan D	1	1	-	6	6	-	-	6.00	-	-
Brown R	5	6	-	15	7	-	-	2.50	-	-
Henryon P	7	6	-	6	5	-	-	1.00	-	-
Howman S	1	1	-	1	1	-	-	1.00	-	-

#### 2ND GRADE BOWLING AVERAGES

Player	Overs	Maidens	Runs	Wickets	Average	5w/Inn	Best	run rate	strike rate
Howman S	12	3	23	3	7.67	-	3/23	1.85	24.8
Godfrey	156	53	296	22	13.45	1	5/39	1.90	42.5
Balcombe B	32	14	63	4	15.75	-	2/40	1.97	48.0
Henryon P	128	30	332	20	16.60	1	6/59	2.59	38.5
Kirk P	182	47	419	22	19.05	-	4/24	2.30	49.6
Quai D	99	13	257	13	19.77	-	3/47	2.60	45.7
Murphy J	212	64	464	21	22.10	1	5/18	2.18	60.7
Campbell R	8	3	25	1	25.00	-	1/25	3.13	48.0
Silinger T	72	9	208	8	26.00	-	3/33	2.87	54.3
Neale P	61	11	166	5	33.20	-	4/40	2.71	73.6
Isles C	54	11	167	4	41.75	-	2/10	3.09	81.0
Brown R	16	2	59	1	59.00	-	1/47	3.69	96.0
Darragh D	23	4	78	1	78.00	-	1/13	3.39	138.0
Elliott M	1	-	2	-	-	-	0/2	2.00	-



## 3PD CRADE RATTING AVERAGES

3RD GRADE BATTING AVERAGES												
Player	Matches	Innings	Not Outs	Runs	Top Score	50's	100's	Average	Catches	Stumping		
Allsopp D	14	15	5	503	110	3	1	50.30	4	-		
Quai D	6	6	-	278	126	1	1	46.33	-	-		
Christodoulou G	1	1	-	45	45	-	-	45.00	3	-		
Brown R	9	11	*	472	106	4	1	42.91	=	=		
Silinger P	2	2	-	81	61	1	-	40.50	-	-		
Rintoul A	2	3	2	38	22	-	-	38.00	-	-		
Casson D	4	4	-	140	81	1	-	35.00	3	-		
Bow B	14	15	3	419	63	4		34.92	8	-		
Bolton D	6	6	-	191	117	-	1	31.83	5	-		
Hubble Jarrod	4	4	-	126	57	1	-	31.50	1	-		
Cann C	5	5	-	157	57	1		31.40	5	-		
Rule N	14	18	2	487	104	3	1	30.44	6	-		
Bond D	8	7	2	152	70	2	-	30.40	5	-		
Palmer C	14	8	4	119	67	1	-	29.75	10	-		
Nice M	8	9	1	175	51	1	-	21.88	1	-		
Howman S	13	9	4	98	30	-	-	19.60	6	-		
Le Tessier B	3	3	1	32	19	-	-	16.00	1	-		
Plaisted N	8	8	2	82	31	-	-	13.67	10	-		
Wright S	8	9	1	80	37	-	-	10.00	3	-		
Cross A	15	6	1	39	11	-	-	7.80	1	-		
Parr R	4	4	1	17	11	-	-	5.67	1	-		
Henryon P	3	3	2	-		-	-	-	-	-		
Barnes D	1	1	1	36	36	-	-	-	2	-		
Parkin R	1	DNB										

# 3RD GRADE BOWLING AVERAGES

	3	IND GIVE		, ,, ,,,,,,					
Player	Overs	Maidens	Runs	Wickets	Average	5w/Inn	Best	run rate	strike rate
Howman S	179	55	389	24	16.21	2	5/25	2.17	44.8
Palmer C	127	29	357	22	16.25	1	6/46	2.81	34.7
Quai D	62	16	172	10	17.20	-	4/36	2.77	37.2
Cross A	215	61	498	28	17.79	2	6/27	2.32	46.1
Wright S	11	1	39	2	19.50	-	1/7	3.55	33.0
Henryon P	54	8	200	10	20.00	1	6/86	3.74	32.1
Parr R	44	9	152	7	21.71	-	3/38	3.49	37.3
Allsopp D	56	5	188	8	23.50	-	2/9	3.35	42.2
Nice M	119	34	317	12	26.42	-	4/47	2.66	59.7
Bond D	65	14	166	6	27.67	-	2/16	2.55	65.0
Le Tessier B	19	5	34	1	34.00	-	1/27	1.79	114.0
Brown R	33	8	108	3	36.00		1/6	3.27	66.0
Rintoul A	16	4	53	1	53.00	-	1/38	3.31	96.0
Rule N	1	-	7	-	-	-	0/7	7.00	-
Hubble Jarrod	21	4	68	-	-	-	0/5	3.24	-
Bolton D	5	2	17	-	-	-	0/0	3.40	-



Season 1996/97

# **SUBIACO - FLOREAT CRICKET CLUB (Inc)**

### 4TH GRADE BATTING AVERAGES

Player	Matches	Innings	Not Outs	Runs	Top Score	50's	100's	Average	Catches	Stumping
Isles D	1	1	-	55	55	1	-	55.00	-	-
Rule N	1	2	1	54	45	-	-	54.00	-	
Quinn M	3	3	-	129	95	1	-	43.00	2	
Bond D	3	4	-	164	123	-	1	41.00	1	-
Garnsey D	1	2	1	35	23	-	-	35.00	-	-
Harris B	3	5	1	116	48	-	-	29.00	2	-
Parkin R	7	8	1	176	47	-	-	25.14	5	-
Kinsella D	2	2	1	25	14	-	-	25.00	-	-
Brain A	2	2	1	25	13	-	-	25.00	-	
Barnes D	12	14	1	275	47	-	-	21.15	7	-
Hubble Jarrod	1	1	-	21	21	-	-	21.00	1	-
Swan J	2	3	-	62	40	-	-	20.67	1	-
Rintoul A	10	11	1	200	63	1	-	20.00	4	-
Bow B	1	2	-	36	22	-	-	18.00	-	-
Parr R	8	10	4	101	31	-	-	16.83	4	-
Srhoj P	5	7	-	115	35	-	-	16.43	2	-
Tydde D	3	3	1	32	15	-	-	16.00	-	-
Jones B	1	1	-	14	14	-	-	14.00	-	-
Wright S	3	4	1	40	23	-	-	13.33	1	-
Pearce S	3	4	-1	50	20	-	-	12.50	2	-
Bowen A	2	2		22	17	-	-	11.00	1	-
Le Tessier B	9	.12	-	130	27	-	-	10.83	2	-
Byfield E	2	2	-	20	19	-	-	10.00	-	-
Plaisted N	4	6	1	46	18	-	-	9.20	2	-
Hughes D	11	14	2	110	22	-	-	9.17	8	-
Catlin G	12	11	4	48	26	-	-	6.86	2	-
Hubble Joel	8	9	-	50	17	-	-	5.56	4	1
Mulhall S	1	1	-	3	3	-	-	3.00	-	-
Henriques M	1	2	-	5	4	-	-	2.50	-	-
Medrano A	1	1	1-	2	2	-	-	2.00	-	-
Dwyer J	5	3	2	1	1	-	-	1.00	1	-
McPhee S	1	1	1.5	1	1	-	-	1.00	-	-
Clark R	. 3	3	-	1	1	-	-	0.33	1	-
Issacshen P	1	1	1	3	3	-	-	-	1	-
Noakes E	1	1	-	-	-	-	-	-	-	-



### 4TH GRADE BOWLING AVERAGES

41H GRADE BOWLING AVERAGES											
Player	Overs	Maidens	Runs	Wickets	Average	5w/Inn	Best	run rate	strike rate		
Wright S	31	8	74	7	10.57	1	5/35	2.38	26.7		
Hubble Jarrod	16	3	40	3	13.33	-	3/40	2.45	32.7		
Parkin R	148	47	334	23	14.52	1	7/37	2.26	38.6		
Quinn M	22	2	62	4	15.50	-	1/2	2.82	33.0		
Bond D	51	8	120	7	17.14	1	5/58	2.35	43.7		
Catlin G	123	28	294	16	18.38	1	6/55	2.39	46.1		
Tydde D	22	1	74	4	18.50	-	2/31	3.36	33.0		
Barnes D	70	14	210	11	19.09	-	4/44	3.00	38.2		
Swan J	17	4	40	2	20.00	-	2/29	2.35	51.0		
Brain A	5	1	20	1	20.00	-	1/20	4.00	30.0		
Dwyer J	78	25	181	9	20.11	-	3/12	2.32	52.0		
Garnsey D	14	1	42	2	21.00	-	2/42	3.00	42.0		
Parr R	87	11	317	13	24.38	1	6/73	3.64	40.2		
Issacshen P	14	3	50	2	25.00	-	2/50	3.57	42.0		
Rintoul A	157	38	408	16	25.50	-	4/44	2.60	58.9		
Pearce S	3	-	27	1	27.00	-	1/27	9.00	18.0		
Le Tessier B	37	9	101	3	33.67	-	1/14	2.73	74.0		
Clark R	41	10	113	3	37.67	-	2/20	2.76	82.0		
Harris B	14	2	40	1	40.00	-	1/40	2.86	84.0		
Kinsella	5	-	26	-	-	-	0/26	5.20	-		
Hughes D	3	-	9	-	-	-	0/9	3.00	-		
Srhoj P	1	-	9	-	-	-	0/9	9.00	-		



# SUBIACO - FLOREAT CRICKET CLUB (Inc)

## SUM OF ALL GRADES BATTING AGGREGATES

Player	Matches 1		Not Outs	Runs	Top Score	50's	100's	Average
Goodwin M	10	11	2	550	137	2	3	61.11
Rule N	15	20	3	541	104	3	1	31.82
Allsopp D	14	15	5	503	110	3	1	50.30
Brown R	14	17	-	487	106	4	1	28.65
Quai D	13	14	3	464	126	2	i	42.18
Bow B	15	17	3	455	63	4		32.50
Rule V	12	16	2	439	78*	3		31.36
Leahy S	13	17	3	392	56	3		28.00
Darragh D	12	13	1	381	133*	3	1	31.75
Campbell R	8	12	i	367	151		1	33.36
Cann C	11	13	2	350	69	2	-	31.82
McKeown P	10	14	1	330	68	2		25.38
Bond D	11	11	2	316	123	2	1	35.11
Boyle S	12	16	3	312	71	1	-	24.00
Barnes D	13	15	2	311	47	_		23.92
Casson D	12	14	2	304	84	2	-	25.33
Bolton D	9	9	-	247	117	-	1	27.44
Isles C	13	16	1	245	44	-	-	16.33
Rintoul A	12	14	3	238	63	1	-	21.64
Godfrey G	12	11	3	218	51	2	-	27.25
Parkin R	7	8	1	176	47	-	-	25.14
Nice M	8	9	1	175	51	1	-	21.88
Christodoulou G	13	15	1	168	45	-	-	12.00
Simpson M	12	12	-	162	54	1	-	13.50
Le Tessier B	12	15	1	162	27	-	-	11.57
Sillinger P	17	16	3	156	26	-	-	12.00
Capes P	10	10	1	151	62	1	-	16.78
Elliot M	11	14	1	148	60	1	-	11.38
Hubble Jarrod	5	5	-	147	57	1	-	29.40
Balcombe B	10	12	6	145	32	-	-	24.17
Kirk P	13	13	3	144	42	-	-	14.40
Beattie T	4	5	-	140	28	1	-	28.00
Swan G	11	1.1	2	135	35*	-	-	15.00
Sillinger T	6	6	2	132	50	1	-	33.00
Quinn M	3	3	-	129	95	1	-	43.00
Plaisted N	12	14	3	128	31	-	-	11.64
Wright S	11	13	2	120	37	-	-	10.91
Palmer C	14	8	4	119	67	· 1	-	29.75
Parr R	12	14	5	118	31	-	-	13.11
Harris B	3	5	1	116	48	-	-	29.00
Srhoj P	5	7	-	115	35	-	-	16.43
Hughes D	11	14	2	110	22	-	-	9.17
Howman S	14	10	4	99	30	-	-	16.50
Herbert I	2	2	-	82	49	-	-	41.00
Silinger P	2	2	-	81	61	1	-	40.50
Murphy J	13	12	5	81	20*	-	-	11.57
Swan J	2	3	-	62	40	-	-	20.67
Neale P	13	10	1	57	15	-	-	6.33



Player	Matches	Innings	Not Outs	Runs	Top Score	50's	100's	Average
Isles D	1	1	-	55	55	1		- 55.00
Pearce S	3	4	-	50	20	_		- 12.50
Hubble Joel	8	9	-	50	17	-		- 5.56
Catlin G	12	11	4	48	26	-		- 6.86
Cross A	15	6	1	39	11	-		- 7.80
Garnsey D	1	2	1	35	23	-		- 35.00
Tydde D	3	3	1	32	15	-		- 16.00
Gonnella P	1	1	-	30	30	-		- 30.00
Brain A	2	2	1	25	13	-		- 25.00
Kinsella D	2	2	1	25	14	-		- 25.00
Bowen A	2	2	-	22	17	-		- 11.00
Byfield E	2	2	-	20	19	-		- 10.00
Jones B	1	1	-	14	14	-		- 14.00
Henryon P	12	9	4	12	5	-		- 1.71
O'Regan D	1	1	-	6	. 6	-		- 6.00
Henriques M	1	2	-	5	4	-		- 2.50
Issacshen P	1	1	1	3	3	-		-
Mulhall S	1	1	-	3	3	-		- 3.00
Medrano A	1	1	-	2	2	-		- 2.00
Dwyer J	5	3	2	1	1	-		- 1.00
McPhee S	1	1	-	1	1	-		- 1.00
Clark R	3	3	-	- 1	1			- 0.33
Noakes E	1	1	-	-	-	-		



# SUBIACO - FLOREAT CRICKET CLUB (Inc)

## SUM OF ALL GRADES BOWLING AGGREGATES

Player	Overs	Maidens	Runs	Wickets	Average	5w/Inn	Best	run rate	strike rate
Henryon P	201	38	615	32	19.22	2	6/59	3.05	37.8
Cross A	215	61	498	28	17.79	2	6/27	2.32	46.1
Howman S	192	58	412	27	15.26	2	5/25	2.15	42.6
Swan G	242	64	732	27	27.11	2	6/21	3.02	53.8
Capes P	183	63	380	24	15.83	2	6/26	2.07	45.8
Parkin R	148	47	334	23	14.52	1	7/37	2.26	38.6
Quai D	161	29	429	23	18.65	-	4/36	2.66	42.0
Kirk P	199	51	458	23	19.91	-	4/24	2.30	51.9
Godfrey	156	53	296	22	13.45	1	5/39	1.90	42.5
Palmer C	127	29	357	22	16.25	1	6/46	2.81	34.7
Murphy J	223	68	504	21	24.00	1	5/18	2.26	63.8
Balcombe B	179	70	387	20	19.35	1	6/35	2.16	53.7
Parr R	131	20	469	20	23.45	1	6/73	3.59	39.2
Neale P	192	35	624	20	31.20	-	4/40	3.25	57.5
Rintoul A	173	42	461	17	27.12	-	4/44	2.66	61.1
Catlin G	123	28	294	16	18.38	1	6/55	2.39	46.1
Silinger T	150	24	499	15	33.27	-	3/33	3.34	59.8
Bond D	116	22	286	13	22.00	1-	5/58	2.47	53.5
Nice M	119	34	317	12	26.42		4/47	2.66	59.7
Barnes D	70	14	210	. 11	19.09		4/44	3.00	38.2
Wright S	42	9	113	9	12.56	-	5/35	2.68	28.1
Dwyer J	78	25	181	9	20.11	-	3/12	2.32	52.0
Allsopp D	56	5	188	8	23.50	-	2/9	3.35	42.2
Boyle S	23	5	83	6	13.83	-	3/39	3.61	23.0
Isles C	83	21	259	5	51.80	-	2/10	3.12	99.6
Quinn M	22	2	62	4	15.50	-	1/2	2.82	33.0
Tydde D	22	1	74	4	18.50	-	2/31	3.36	33.0
Le Tessier B	37	14	135	4	33.75	-	1/14	3.65	55.5
Brown R	49	10	167	4	41.75	-	1/6	3.41	73.5
Hubble Jarrod	37	7	108	3	36.00	-	3/40	2.89	74.7
Clark R	41	10	113	3	37.67	-	2/20	2.76	82.0
Goodwin M	45	4	212	3	70.67	-	1/0	4.67	90.8
Swan J	17	4	40	2	20.00	-	2/29	2.35	51.0
Garnsey D	14	1	42	2	21.00	-	2/42	3.00	42.0
Issacshen P	14	3	50	2	25.00	-	2/50	3.57	42.0
Campbell R Brain A	30	5	90	2	45.00	-	1/25	3.00	90.0
Pearce S	5	1	20	1	20.00	-	1/20	4.00	30.0
Rule V	8	1	27	1	27.00	-	1/27	9.00	18.0
Harris B	14	2	35 40	1	35.00	-	1/20	4.38	48.0
Darragh D	23	4	78	1	40.00	-	1/40	2.86	84.0
Elliot M	16	1	82		78.00	-	1/13	3.39	138.0
Bolton D	5	2	82 17	1	82.00	-	1/32	5.13	96.0
Hughes D	3	-	9		0.00	-	0/0	3.40	0.0
Kinsella	5	-	26	-	0.00	-	0/9	3.00	0.0
McKeown P	4	ī	15	-	0.00		0/26	5.20	0.0
Rule N	1	-	7	-	0.00	-	0/5	3.75	0.0
Srhoj P	1	-	9		0.00	-	0/7 0/9	7.00	0.0
51.10j I		-	7	-	0.00	-	0/9	9.00	0.0



## SUNDAY LEAGUE BATTING AVERAGES

Player	Matches	Innings	Not Outs	Runs	Top Score	50's	100's	Average	Catches	Stumping
Campbell R	2	2	-	101	52	1		50.50	2	-
Boyle S	4	4	1	120	62*	1	-	40.00	1	-
Goodwin M	4	4	-	115	55	-	-	28.75	-	-
Swan G	4	4	1	80	39*	-	-	26.67	-	-
McKeown P	3	3	-	64	35	1	-	21.33	2	-
Kirk P	4	4	-	45	37	-	-	11.25	-	
Elliot M	4	4	-	44	29	-	-	11.00	1	-
Isles C	3	3	-	29	25	-	-	9.67	-	-
Balcombe B	3	3	1	19	16*	-	-	9.50	- 1	-
Simpson M	4	4	-	33	32	-	-	8.25	6	1-
Murphy J	1	1	-	7	7	-	-	7.00		-
Rule V	4	4	-	17	8	-	-	4.25	1	-
Neale P	4	3	3	20	11*	-	-	-	1	-

#### SUNDAY LEAGUE BOWLING AVERAGES

SUNDAT LEAGUE DOWERRO AVERAGES												
Player	Overs	Maidens	Runs	Wickets	Average	5w/Inn	Best	run rate	strike rate			
Isles C	14	1	58	3	19.33	-	2/30	4.14	28.0			
Neale P	33	4	141	6	23.50	-	2/24	4.27	33.0			
Balcombe B	30	-	108	4	27.00	1	2/35	3.60	45.0			
Kirk P	34	3	139	5	27.80	-	3/36	4.09	40.8			
Swan G	33	6	94	3	31.33	-	3/23	2.83	66.4			
Murphy J	8	2	35	1	35.00	-	1/35	4.38	48.0			
Rule V	9	-	48	1	48.00	-	1/24	5.33	54.0			
Elliot M	11	-	50	-	-	1-	/	4.46	-			
Goodwin M	8	-	42	-	-	-	1	5.25	-			
Campbell R	5	_	31		1-	-	1	6.20	-			



Season 1996/97

# SUBIACO - FLOREAT CRICKET CLUB (Inc)

## COLTS BATTING AVERAGES

Player	Matches	Innings	Not Outs	Runs	Top Score	50's	100's	Average	Catches	Stumping
McKeown P	3	3	-	185	112		1	61.67	3	-
Bond D	3	3	1	83	77	1	-	41.50	1	_
Christodoulou G	4	4	-	92	66	1	-	23.00	5	
Elliot M	3	3	-	63	54	1	-	21.00	1	
Howman S	3	3	1	42	31	-	-	21.00	1	-
Casson D	4	4	-	71	33	-	-	17.75	3	-
Leahy S	4	4	-	69	37	-	-	17.25	3	-
Isles C	4	4	-	68	45	-	-	17.00	2	-
Cann C	3	3	-	24	22	-	-	8.00	_	-
Allsopp D	3	2	1	5	3*	-	-	5.00	-	-
Bolton D	3	3	-	14	9	_	-	4.67	1	-
Wright S	2	2	-	9	6	-	-	4.50	-	
Parr R	1	1	-	4	4	-	-	4.00	-	-
Cross A	4	2	-	1	1	-		0.50		

### COLTS BOWLING AVERAGES

Player	Overs	Maidens	Runs	Wickets	Average	5w/Inn	Best	run rate	strike rate
Leahy S	3		8	1	8.00	-	1/8	3.20	15.0
Bond D	27	4	95	6	15.83	-	3/37	3.51	27.1
Howman S	27	5	95	5	19.00	-	2/27	3.52	32.4
Cross A	38	8	118	6	19.67	-	3/39	3.11	38.0
Parr R	10	2	20	1	20.00	-	1/20	2.00	60.0
Allsopp D	30	5	67	3	22.33	-	2/24	2.23	60.0
Elliot M	22	2	86	3	28.67	-	2/34	3.91	44.0
Isles C	22	-	88	2	44.00	-	2/19	4.00	66.0
Wright S	4	1	22	-	-	-	/	5.50	-
McKeown P	7	-	22	-	-	-	/	3.14	-



# FIRST GRADE AVERAGES

1977/78 to 1996/97

BATTING	Matches	Innings	Not Outs	Runs	Top Score	50's	100's	Average	Catches	Stumping
Akhtar S	15	13	2	48	14	-	100	4.36	2	- "
Alderman T	67	41	8	464	60	1	-	14.06	37	-
Allen J	18	17	-	294	61	2	-	17.29	2	-
Anthony P	13	18	-	183	28	-	-	10.17	5	-
Auty C	23	29	7	491	52	1	-	22.32	13	-
Balcombe B	8	9	5	121	32	0	-	30.25	5	-
Barlow G	12	15	2	422	66	4	-	32.46	3	-
Barnes A	5	6	-	49	34	-	-	8.17	1	-
Barr G	7	6	2	66	28	-	-	16.50	2	-
Beattie T	16	24	2	408	55	1	-	18.55	7	-
Bolton A	4	4	-	59	49	-	-	14.75	1	-
Bolton N	4	4	-	33	25	-	-	8.25	-	-
Boyle S	10	14	3	215	47	-	-	19.55	3	-
Breman T	66	71	10	1632	102*	9	1	26.75	27	-
Brown R	10	12	1	173	58	1	-	15.73	4	-
Burgess G	9	11	1	82	24	-	-	8.20	2	-
Bush G	136	106	22	1028	55	1	-	12.24	47	-
Cameron D	13	18	1	187	36*	-	-	11.00	9	-
Campbell R	37	63	10	1100	79*	5	-	20.75	27	-
Capes P	64	60	12	669	62	1	-	13.94	12	-
Carlstein P	9	7	I	206	101	-	1	34.33	3	-
Christensen H	11	9	1	84	28*	-	-	10.50	2	-
Chrystal H	45	55	9	1148	131	5	1	24.96	21	-
Collins M	5	7	1	74	32	-	-	12.33	1	-
Cunningham E	14	14	1	308	88*	2	-	23.69	5	-
Davies J	3	4	2	45	25*	8	-	22.50	-	-
Darragh D	4	5	-	113	57	1	-	22.60	-	-
Dehring G	65	80	4	1667	109	9	1	21.93	58	-
Elliot M	22	28	2	520	69	4	-	20.00	9	-
Elliot R	34	37	4	560	48	-	-	16.97	24 7	-
Finlay W	6	8	1	65	30	-	-	9.29		41
Fitzgerald G	163	180	19	3488	150	13	2	21.66	274	41
Flynn A	2	3	-	11	7		-	3.67	6	-
George S	9	13	3	166	50	1		16.60 17.67		-
Godfrey G	28	30	9	371	39*	-	4	37.28		-
Gonnella P	70	77	17	2237	123*	13 18	8	50.31		
Goodwin M	66	77	10	3371	188		-	0.50	-	-
Hampton P	4	3	1	1 876	1 109*	3	1	20.37		
Hann G	44	51	8				' -	10.92		
Harris D	11	14	1 4	142 421	46 75	2	-	15.59		
Harris K	27	31			75 18			8.67		
Henderson S	3	3	-	26	18 4*	-		2.67		
Henryon P	7	6	3	8 322	93	2	-	35.78		
Herzberg S	12	13	4	25	13	_	- 0	6.25		-
Hicks W	3	4 1	-	25	13	=5	-	0.23		_
Higgins P	1	1	-	-	-	-	-	-	_	



# SUBIACO - FLOREAT CRICKET CLUB (Inc)

									` ,	
BATTING	Matches	Innings	Not Outs	Runs	Top Score	50's	100's	Average	Catches	Stumping
Hogan T	46	37	4	817	75	5	-	24.76	27	-
Hubble J	66	75	20	1616	85*	9	-	29.38	51	-
Hudson R	14	12	5	80	21*	-	-	11.43	1	-
Hughes G	84	101	7	2423	133	13	3	25.78	48	-
Hughes K	44	53	9	2498	205	9	8	56.77	21	-
Hurst J	21	24	6	213	42	-	-	11.83	18	-
Isles C	7	10	2	162	42	-	10.5	20.25	4	-
Ireland D	16	15	2	109	29*	-	-	8.38	3	-
Islip B	5	3	1	35	20*	-	-	17.50	2	-
Jeffrey P	11	13	1	335	46	-	-	27.92	2	-
Jones P	106	106	40	934	52	1	-	14.15	216	16
Kiely A	3	3	2	1	1	-	-	1.00	1	_
King I	56	52	4	720	70	3	-	15.00	7	
Kirk P	12	11	4	82	33	-	-	11.71	5	-
Knight N	4	4	-	44	30	-	-	11.00	3	_
Leahy S	7	10	2	159	56	1	-	19.88	8	-
Levy W	3	3	1	22	12	-	-	11.00	2	
Lubich C	68	76	15	1037	74*	5	-	17.00	34	×
MacGill T	12	12	2	196	47		-	19.60	5	-
McKeown P	20	27	1	750	132	4	1	28.85	8	_
MacNish D	4	5	-	33	19	-	-	6.60	3	-
Marshall P	10	11	-	219	79	1	-	19.91	1	-
Milne A	37	36	4	764	78	6		23.88	18	_
Moldrich P	17	19	1	516	99*	2	-	28.67	4	-
Moran R	16	21		502	139	1	2	23.90	4	-
Morris J	12	15	1	580	99	6	_	41.43	7	-
Mulhall S	55	68	3	1718	135	13	1	26.43	31	_
Murphy J	7	6	3	45	16	-	-	15.00	-	_
Neale P	18	13	4	65	15	-	-	7.22	6	-
Neilson S	47	40	9	326	38	-		10.52	19	-
Nicholls P	31	37	4	1401	151	7	3	42.45	13	-
Nice M	44	49	2	700	83	1		14.89	18	_
Nixon M	1	1	-	19	19	-	-	19.00	-	_
O'Brien G	9	7	1	48	25		-	8.00	2	
O'Regan D	1	2	-	5	4	-	-	2.50	-	-
Page S	61	70	10	1144	117*	4	1	19.07	42	4
Palmer B	2	2	1	24	19	-		24.00	2	
Panegyres P	8	8	1	104	37	-	-	14.86	2	_
Parker B	17	20	3	190	40	-	-	11.18	5	-
Payne C	2	2		31	16	-	-	15.50	1	-
Penter K	41	46	7	802	72	4		20.56	5	-
Perrott C	26	30	2	559	68	3	-	19.96	12	_
Piromalli J	16	18	2	419	85	2	-	26.19	7	-
Porter G	27	34	3	718	97	4	-	23.16	15	
Pringle N	1	1	-	2	2		-	2.00		-
Ralph W	5	4	2	22	16*	-	_	11.00	1	
Raven B	109	81	44	282	20*	-	-	7.62	25	_
Raven D	16	13	8	62	12	-	_	12.40	4	_
Reed D	27	28	7	465	74	-	-	22.14	-	-
Rule N	22	28	2	512	55	1	-	19.69	6	
									10.00	



BATTING	Matches	Innings	Not Outs	Runs	Top Score	50's	100's	Average	Catches	Stumping
Rule V	64	72	14	1355	78*	6	-	23.36	38	-
Sanders P	4	5	1	112	43	-		28.00	1	-
Saunders D	25	26	4	578	92*	3	-	26.27	11	-
Saunders M	10	6	1	117	69*	1	-	23.40	4	-
Sharkey T	2	1	0	4	4	0	-1	4.00	0	-
Sharp K	21	23	3	1083	169	7	2	54.15	7	-
Silinger T	16	11	3	57	18	0	0	7.13	10	-
Simpson M	30	32	3	595	54	2	-	20.52	32	1
Smailes C	76	85	6	2101	114	11	4	26.59	30	-
Smith B	2	2	1	4	3*	-	-	4.00	-	-
Stafford G	11	13	3	131	71*	1	-	13.10	3	
Statham R	11	11	2	146	35	-	-	16.22	1	-
Swan G	62	63	13	459	44	-	-	9.18	11	-
Tate G	1	1	-	5	5	-	-	5.00	-	-
Tolev G	3	3	-	15	9	-	-	5.00	3	-
Travis G	21	22	2	416	97*	3	-	20.80	8	-
Ward B	2	2	-	-	-	-	-	-	2	-
Wilson J	5	3	2	12	8*	-	-	12.00	2	-
Worland A	1	2	1	14	14	-	-	14.00	-	-
Wright S	29	33	4	635	165	1	1	21.90	15	-

BOWLING	Overs	Maidens	Runs	Wickets	Average	5w/Inn	Best	run rate	strike rate
	210	50	614	37	16.59	3	5/28	2.81	35.4
Akhtar S	218	58	614	-		14	7/26	2.45	36.1
Alderman T	1388	381	3404	231	14.74	1001.00		3.09	49.6
Allen J	223	49	691	27	25.59	-	3/33		
Auty C	416	98	1129	43	26.26	1	7/85	2.71	58.1
Balcombe B	147	56	324	16	20.25	1	6/35	2.20	55.1
Barr G	46	8	126	4	31.50	-	3/7	2.74	69.0
Beattie	26	-	81	2	40.50	-	2/20	3.12	78.0
Bolton N	2	=0	10	-	-	-	100	5.00	-
Boyle S	23	5	83	6	13.83	-	3/39	3.61	23.0
Breman T	489	174	1835	75	24.47	5	6/23	3.75	39.1
Brown R	96	10	404	13	31.08	1	5/66	4.21	44.3
Bush G	2913	830	7686	386	19.91	26	7/45	2.64	45.3
Campbell R	353	43	1207	34	35.50	-	3/39	3.42	62.3
Capes P	1163	257	3005	133	22.59	9	7/50	2.58	52.5
Christensen H	116	34	325	20	16.25	-	4/18	2.80	34.8
Chrystal H	91	12	268	10	26.80	-	3/74	2.96	54.3
Collins	48	5	199	7	28.43	-	4/42	4.15	41.1
Cunningham E	8	2	16	-		-	-	2.00	=
Dehring G	24	3	136	2	68.00		1/20	5.67	72.0
Elliot M	30	1	168	2	84.00	-	1/32	5.60	90.0
Finlay W	16	0	79	1	79.00	-	1/25	4.94	96.0
Fitzgerald G	5	1	18	-	-	-	-	3.60	-
Flynn A	24	2	95	1	95.00	-	1/43	3.96	144.0
George S	12	-	26	1	26.00	1-	1/26	2.17	72.0
Godfrey G	311	32	939	18	52.17	-	3/59	3.02	103.7



Season 1996/97

# SUBIACO - FLOREAT CRICKET CLUB (Inc)

BOWLING	Overs	Maidens	Runs	Wickets	Average	5w/Inn	Best	run rate	strike rate
Gonnella P	7	1	16	1	16.00	-	1/6	2.29	42.0
Goodwin M	58	5	282	6	47.00	-	2/24	4.86	58.0
Hampton P	63	10	190	9	21.11		3/28	3.02	42.0
Hann G	216	50	571	13	43.92	-	2/0	2.64	99.7
Harris D	14	1	63	1	63.00	-	1/20	4.50	84.0
Harris K	2	-	13	1	13.00	-	1/13	8.67	9.0
Henderson S	5	-	18	1	18.00	- 1	1/18	3.46	31.2
Henryon P	95	5	449	6	74.83	-	2/44	4.73	95.0
Herzberg S	286	92	694	36	19.28	1	5/43	2.42	47.7
Higgins P	9	2	31	-	-		-	3.44	-
Hogan T	853	269	2081	107	19.45	5	7/62	2.44	47.8
Hubble J	289	53	820	36	22.78	-	4/17	2.84	48.2
Hudson R	97	24	330	11	30.00	12	4/52	3.39	53.1
Hughes G	267	84	622	25	24.88	-	4/27	2.33	64.1
Hughes K	6	1	24	-	-	7	-	4.00	-
Hurst J	57	15	161	ī	161.00	-	1/30	2.82	342.0
Ireland D	346	88	886	36	24.61	-	4/27	2.56	57.7
Isles C	48	14	156	2	78.00	-	1/22	3.25	144.0
Islip B	49	8	184	3	61.33	-	2/65	3.76	98.0
Jeffrey P	206	44	599	30	19.97	-	4/31	2.91	41.2
Jones P	7	2	35	2	17.50	-	1/3	4.79	21.9
Kiely A	35	11	107	4	26.75	-	4/36	3.06	52.5
King I	1025	260	2746	145	18.94	5	7/15	2.68	42.4
Kirk P	130	24	486	6	81.00	-	2/22	3.74	130.0
Knight N	4	-	12	1	12.00	-	1/12	3.00	24.0
Lubich C	1159	306	3047	122	24.98	3	7/145	2.63	57.0
MacGill T	292	87	638	29	22.00	1	5/16	2.18	60.5
McKeown P	10	2	40	2	20.00	-	2/22	4.00	30.0
MacNish D	10	3	36	1	36.00	-	1/21	3.60	60.0
Milne A	2	-	4	1	4.00	-	1/0	2.00	12.0
Moldrich P	94	19	339	8	42.38	1	5/59	3.59	70.8
Moran R	26	3	63	1	63.00	-	1/4	2.42	156.0
Mulhall S	2	-	12	-		-	-	6.00	-
Murphy J	109	34	297	3	99.00	-	1/5	2.74	217.0
Neale P	287	62	928	32	29.00	1	5/48	3.23	53.8
Neilson S	618	136	1917	68	28.19	3	5/25	3.10	54.5
Nice M	187	26	542	13	41.69	-	2/56	2.90	86.3
Nicholls P	331	53	845	34	24.85	-	4/29	2.55	58.5
O'Brien G	84	18	318	8	39.75	-	5/83	3.79	63.0
Page S	9	-	101	3	33.67	-	2/41	11.22	18.0
Palmer B	10	1	35	2	17.50	-	1/16	3.50	30.0
Panegyres P	59	18	136	6	22.67	_	3/14	2.31	59.0
Parker B	254	57	594	18	33.00	1	5/48	2.34	84.7
Penter K	427	127	909	50	18.18	2	5/46	2.13	51.3
Perrott C	147	25	504	20	25.20	-	3/40	3.43	44.1
Piromalli J	9	1	49	1	49.00	_	1/11	5.38	54.6
Porter G	380	114	920	44	20.91	1	7/20	2.42	51.8
Ralph W	73	25	167	5	33.40		2/19	2.29	87.6
Raven B	2123	505	5039	269	18.73	11	7/29	2.37	47.4
Raven D	259	49	731	28	26.11	1	5/55	2.82	55.5



Season 1996/97

# SUBIACO - FLOREAT CRICKET CLUB (Inc)

BOWLING	Overs	Maidens	Runs	Wickets	Average	5w/Inn	Best	run rate	strike rate
Rule V	51	7	235	5	47.00	-	1/18	4.61	61.2
Saunders M	159	27	507	13	39.00	-	4/34	3.19	73.4
Sharkey T	29	4	89	2	44.50	-	2/33	3.07	87.0
Silinger T	214	44	725	20	36.25	1	5/79	3.39	64.1
Simpson M	5	-0	44	1	44.00	-	1/44	8.80	30.0
Smailes C	18	3	82	3	27.33	-	2/18	4.56	36.0
Smith B	10	1	36	-	-	-	-	3.60	-
Swan G	1203	223	3762	135	27.87	4	6/21	3.13	53.5
Tate G	18	3	65	1	65.00	-	1/20	3.61	108.0
Wilson J	67	12	238	5	47.60	-	3/50	3.55	80.4
Wright S	32	12	64	2	32.00	-	2/39	2.00	96.0



# SUBIACO - FLOREAT CRICKET CLUB (Inc)

# FIRST GRADE MATCH RESULTS

1977/78 to 1996/97

Year	Played	Won	Lost	Drawn
1977/78	12	5	7	
1978/79	14	11	3	- 1
1979/80	14	.9	4	1
1980/81	14	10	3	1
1981/82	13	3	9	1
1982/83	12	3	8	1
1983/84	14	5	8	8
1984/85	14	5	7	2
1985/86	14	7	4	3
1986/87	14	6	5	3
1987/88	17	11	6	-
1988/89	14	3	6	5
1989/90	14	5	5	4
1990/91	13	8	4	1
1991/92	12	5	6	1
1992/93	12	2	10	-
1993/94	12	5	7	-
1994/95	12	3	9	- 1
1995/96	12	5	6	1
1996/97	12	5	7	
	265	116	124	32



This page has been left intentionally blank